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8 Classical Fianchetto with

8...exd4

1d45662c4863g3 2874 292d65
E3 0-0 6 0-0 DHbd7 7 Hc3 €5 8 ed
exd4

Black decides to make this exchange
straight away. There are many trans-
positional possibilities between this
line and Chapter 9 and here we only
consider those continuations in which
Black does not play an early ...c6.
Readers should bear in mind that play-
ing ...c6 will almost always transpose
to Chapter 9 and in some positions this
might be Black’s best option.

9 H\xd4 (D)
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a) 9 .a6 and then:

al) 10 h3 — 8..a6 9 h3 exd4 10
Pxd4.

a2) 10b3 Ze8 11 £b2 (11 £e3 Eb8
12 Ec1, Korchnoi-Gallagher, Dresden

1988, 12...20e5!? 13 Ec2 ¢5 14 Hde2
b5 15 cxb5 axb5 16 Ed2 « Korchnoi)
11..Eb8 12 a4 a5 13 Wc2 &\c5 14 h3
c6 15 Badl Wb6 16 Efel HHfd7 «
Hawksworth-Daly, British Ch (East-
bourne) 1990.

b) 9...4\c5 and now:

bl) 10 Eel?! Dgd! 11 Db3 &f6 12
£3 Des 13 Dxc5 dxes 14 We2 H\c6 15
Hds Wds 16 2f4 Hd4 F S.Jakob-
Landenbergue, Berne 1989.

b2) 10 £b3?! £e6! 11 &Hxc5 dxcs
12 Wed 6 13 Edl We7 14 214 Had8
15 Da4 Hd4 16 Exd4 (16 b3 g4 is
pleasant for Black) 16...cxd4 17 c5 b5!
18 cxb6 axb6 F Kotov-Geller, Moscow
1951.

b3) 103 a5 11 £e3 a4 and then:

b31) 12 Wc2 c6 13 Efdl HHfd7 14
b4 axb3 15 axb3 Exal 16 Exal He5 17
Hbl Da6 18 Edl Was 19 &hl He8 «
Moldobaev-Yurtaev, Frunze 1987.

b32) 12 &\db5 £e6 13 e5 &)fd7 14
exd6 c6 15 Ac7 Lxcd 16 Hxa8 Wxal
17 £d4 £xd4+ 18 Wxd4d £xfl 19
2 xf1 Be8 20 £h3 b5 = Platonov-Zak,
USSR 1958.

b33) 12 Ef2 c6 13 D2 We7 14
Ea2 Htd7 15 Bcl (15 Exd6? a3!)
15...2e5 16 £f2 He8 17 He3 HHf8 18
e2 Wc7 o Averbakh-Gligori¢, Zurich
Ct 1953.

b34) 12 Bbl &Hfd7 (12...c6 13 b4
axb3 14 axb3 Ee8 15 Hel Hfd7 16 b4
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De6 17 Dxe6 Exe6 18 Wh3 He5 19
&e2 W6 20 Hd4 He8 21 £12 £ Smej-
kal & Stohl) 13 b4 axb3 14 axb3 De5
15 h3 5 16 4 &c6 17 Hxc6 bxco 18
£xc5 £xc3 19 £d4 £xd4+ 20 Wxd4
fxed 21 Wxe4 25 22 Wxc6 Lxbl 23
Wxa8 Wxa8 24 £xa8 Hxa8 25 Hxbl
Ea2 = Smejkal & Stohl.

b4) 10 h3 a5 11 £e3 (11 Zel!? a4
12 Ebl c6 13 b4 axb3 14 axb3 Hfd7 15
£e3 9e5 16 He2 Ha3 17 Ec2 He8 18
We1 £ Tukmakov-Todorcevi¢, Lugano
1985) 11..a4 (11..9fd7 12 Wc2 £
Smejkal & Stohl) 12 &)db5 (generally
speaking, it is wrong to play ...exd4
and ...a5 without first playing ...c6 be-
cause White can soon continue £db5
and the pressure on d6 means that
White will not be able to expel the b5-
knight by ...c6) 12..)fd7 13 £d4 £xd4
14 Wxd4 (14 Dxd4 £) 14..5e5 15 4
e6 16 W2 HHxc4 17 Eadl with com-
pensation, Taimanov-Oren, Moscow
OL 1956.

We now return to the position after

9..He8 (D):
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10 h3

White wants to play £e3 without
running into the reply ...&)g4. Some of
the alternatives are also promising:

KING’S INDIAN AND GRUNFELD: FIANCHETTO LINES

a) 10 b3 &5 11 £3 a5?! (11...¢6!?
) 12 2e3 c6 13 We2 We7 14 Efel h5
15 Eadl h4 16 ¥d2 + Ubilava-Api-
cella, Belgrade 1988.

b) 10 ¥c2 and then:

bl) 10..&6¢c5 11 Edl a5 12 &dbs
8d713 2e3Wcg 14 f3b6 15 Eel Le6
16 b3 He7 17 g4 h6 18 Wd2 &h7 19
Hadl Wa6 20 Hd4 £d7 21 &2 +
Malaniuk-Ilinc¢ié¢, Ni§ 1996.

b2) 10..8xed 11 Dxed £xd4 12
£¢5 f6 13 Eadl with compensation
for White, Nedeljkovi¢-Janosevié, Yu-
goslavia 1951.

b3) 10...c6 11 Zdl We7 and now 12
b3—8..c6 9Wc2 He8 10 Edl We7 11
b3 exd4 12 Dxd4; 12 £e3 — 8...c6 9
We2 Be8 10 Bdl We7 11 Le3 exdd 12
Nxd4.

c) 10 £e3 Hc5 (10..c6 11 h3 —
8..c6 9 h3 Be8 10 L.e3 exd4 11 Dxd4,
10...£%e5 11 b3 Dfed 12 24 Hic6 13
Dde2 £5 14 h3 D6 15 exf5 £xf5 16
Wa2 (16 g4!? £ Botvinnik} 16...h5 17
Hael Wd7 18 ®h2 Hh7 19 205/ +
Botvinnik-Lilienthal, Moscow 1941)
11 £3 ¢6 and then:

cl) 12 Ef21? &\fd7 13 Ed2 £51?
(13..2e52 14 b3 £5 15 Dxf5! +; 13...a5
14 Hde2 £) 14 b4! and here Black
should try 14..2)a6!? o, rather than
14...fxe4 15 bxc5 dxc5 16 Dxed cxd4
17 £xd4 +.

c2) 12 Wd2 HHfd7 (12...a5!? 13 Hadl
A7 14 Hb3 Hxb3 15 axb3 2£8 1) 13
Eadl He5 14 b3 and now:

c21) 14..We7 15 &Hde2 (15 A2
£18 gives Black compensation; he in-
tends ...a5) 15..89ed3!? 16 &f4 (16
Bxc5N Dxe5 17 Wxd6 Wxd6 18 Exd6
f5 with compensation) 16...2xf4 17
Bxf4 2e5! (17..Ed8 18 He2 +) 18
Hfel a5 19 £e3! WFS (19...b6 20 £4d4



